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Problesm on Ages Practice Paper 3

51) If Raj was one-third as old as Rahim 5 years back
and Raj is 17 years old now, How old is Rahim now?

a) 36 b) 40

c) 41 d) 48

52) Sushil was thrice as old as Snehal 6 years back.
Sushil will be times as old as Snehal 6 years hence. How
old is Snehal today ?
a) 24
c) 16

b) 18
d) 12

53) Six years ago, the ratio of the ages of Sumanta and
Bipul was 6:5, Four years hence, the ratio of their ages
will be 11:10. What is Bipul age at Present ?

a) 10 years b) 14 years

c) 16 years d) 12 years

54) The age of a person is thrice the total ages of his 2
daughters. 0.5 decades hence; his age will be twice of
the total ages of his daughters. Then what is the fathers
current age? ( 0.5 Decades = 5 Years )

a) 35 years b) 47 years

c) 40 years d) 45 years

55) Proportion of Rahanes age to Dhonis age is 4:3.
Yuvaraj willl be 26 years old after 6 years. What is the
age of Dhoni now ?
a) 15 years
c) 19 years

b) 12 years
d) 17 years

56) A man is 24 years older than his son. In two years,
his age will be twice the age of his son. The present age
of his son is
a) 22 years
c) 21 years

b) 20 years
d) 24 years

57) The total age of A and B is 12 years more than the
total age of B and C. Cis how many years younger than
A?

a)12
c)14

b) 13
d) 15

58) Santanu's grandfather was 8 times older to her 16
years ago. He would be 3 times of her age 8 years from
now. What was ratio of ages of Santanu and her
grandfather 8 years ago.
a) 11:54
c) 11:50

b) 11:51
d) 11:53

59) The ages of X and Y are in the proportion of 6:5 and
total of their ages is 44 years. The proportion of their
ages after 8 years will be

a) 8.7 b) 6:3

c) 3:6 d) 9:5

60) Ten years ago A was half of B in age. If the ratio of
their present ages is 3 : 4, what will be the total of their
present ages
a) 40
c) 25

b) 35
d) 30

61) A person's present age is two-fifth of the age of his
mother. After 8 years, he will be one-half of the age of
his mother. How old is the mother at present

a) 45 b) 42
c) 40 d) 44
62) A father said his son, " | was as old as you are at

present at the time of your birth. " If the father age is
38 now, the son age 5 years back was :

a)14 b) 19

c) 33 d) 38

63) In 10 years, A will be twice as old as B was 10 years
ago. If Ais now 9 years older than B, the present age of
Bis:
a) 19
c) 39

b) 29
d) 49

64) The total age of A and B is 12 years more than the
total age of B and C. Cis how many years younger than
A?

a) 12
c) 14

b) 13
d) 15 Pa
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65) The sum of the present ages of a father and his son
is 60 years. five years ago, father's age was four times
the age of the son. so now the son's age will be:

a)5 b) 10

c) 15 d) 20

66) Rajeev's age after 15 years will be 5 times his age 5
years back. What is the present age of rajeev?

a)12 b) 14

c) 22 d) 10

67) "I am five times as old as you were, when | was as
old as you are", said a man to his son. Find out their
present ages, if the sum of their ages is 64 years ?

a) Father = 50; Son =14

b) Father = 40; Son =24

c) Father = 60; Son =4

d) Father = 48; Son =16

68) What is the age of Teja?

A: Four years ago, Raju was as old as Teja is at present.
B: Sita’s present age is two times of Raju’s present age.
C: The average age of Teja and Sita is 19 years.

a) Any two statements are sufficient to give answer

b) Only Cis sufficient

c) All of three statements are necessary to give answer
d) Even using all the three statements answer cannot
be found

69) The average age of a class is 15.8 years. The average
age of the boys in the class is 16.4 years and that of the
girls is 15.4 years. What is the ratio of boys to girls in
the class ?
a) 1:3
c)3:2

b) 2:3
d) 3:1

70) If 6 years are subtracted from the present age of
Arun and the remainder is divided by 18, then the
present age of his grandson Gokul is obtained. If Gokul
is 2 years younger to Madan whose age is 5 years, then
what is the age of Arun ?

a) 72 years b) 54 years

c) 60 years d) 47 years

71) When | was married 10 years ago my wife is the 6th
member of the family. Today my father died and a baby
born to me.The average age of my family during my
marriage is same as today. What is the age of Father
when he died ?
a) 50 yrs

c) 70 yrs

b) 60 yrs
d) 65 yrs

72) A person's present age is two-fifth of the age of his
mother. After 8 years, he will be one-half of the age of
his mother. How old is the mother at present ?

a) 36 yrs b) 38 yrs

c) 40 yrs d) 42 yrs

73) The ages of Krish and Vaibhav are inthe proportion
of 3. 5. After 9 years, the proportion of their ages will
be 3 :4. Then the current age of Vaibhav is:

a) 10 b) 13

c) 15 d) 18

74) Sivagami is 2 years elder than Meena. After 6 years
the total of their ages will be 7 times of their current
age. Then age of Sivagamiis :

a) 19 years b) 17 years

c) 15 years d) data inadequate

75) Eight years ago, Ajay's age was 4/3 times that of
Vijay. Eight years hence, Ajay's age will be 6/5 times
that of Vijay. What is the present age of Ajay ?

a) 41 yrs b) 40 yrs

c) 37 yrs d) 33yrs
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